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D - Gambler Bo

solved by Zars19

O0O00O0%$0,1,2\}$0 $N\timesM$O O OO D ODDOOOOO0OOODOOO0OODOOS28000000 $180
00000830 00000000000000%NM$0000000S$0 0000000

0000830 000000000000 %$30\times30$00000%0(N3M™3)$000D00COOODO
0000000000000 000oDooD0ooooOif(lalmxline]l[i])continue; 000

code:

#include<iostream>
#include<cstdio>
#include<cstring>
#include<cassert>
#include<cstdlib>
#include<cmath>
#include<vector>
#include<algorithm>
#define LL long long
using namespace std;
int read
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int x=0,f=1;char c=getchar();

c<'0'|]|c>'9" c=='-"')f=-1;c=getchar();
c>="'0'&8C<="9") {x=x*10+c-'0"';c=getchar();
x*f;

int n,m,chess ,a , T ,res;

int num(int x,int y X-1)*m+y;

int dx ={-1,1,0,0};

int dy ={0,0,-1,1};

bool in(int x,int y x>=1&Ex<=n*m&&y>=1&&y<=m;
void exgcd(LL a,LL b,LL &d,LL &x,LL &y

'b)d=a,x=1,y=0;
exgcd(b,a%b,d,y,x),y-=x*(a/b);

LL inv(LL a,LL p

LL d,x,y;exgcd(a,p,d,x,y);
X+p ) %p==07?p: (X+p)%p;

void Gauss
int i=1;i<=n*m;i++

int mxline=i;
int j=i;j<=n*m;j++
aljliil=almxline][i] )mxline=j;
lalmxline| [1 ;
mxline!=1i
int j=i;j<=n*m+1;j++)swap(a/mxline![j!,ali
int j=i+1l;j<=n*m;j++

rfaljl i ;
int t=aljl[il*inv(ali]l[i],3)%3;

int k=1i;k<=n*m+1;k++
aljllkl=(aljlkl-(t*alil [k!%3)+3)%3;

int i=n*m;i;i--

int j=n*m;j>i;j--

alil[n*m+li=((alil[n*m+l]-f[jl*ali]l[]j]%3)+3)%3;
flil=alil[n*m+1l1*inv(alil[i], 3)%3;
flil)res+=f[i];
int main

int T=read();
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T--

memset(a,0,sizeof(a));
n=read(),m=read(),res=0;
int i=1;i<=n;i++
int j=1;j<=m;j++
chess/il[jl=read();
int i=1;i<=n;i++
int j=1;j<=m;j++
alnum(i,j n*m+1l|=(3-chess|i|[j|)%3;
alnum(i,j num(i,j)|=2;
int k=0;k<4;k++
int tx=i+dx | k!,ty=j+dy k];

lin(tx,ty ;
alnum(tx,ty) | num(i,j)=1;

Gauss () ;
printf("%sd\n",res);

int i=1;i<=n;i++

int j=1;j<=m;j++

int k=1;k<=fnum(i,j)|;k++
printf("%sd %d\n",i,j);

B-Operation

solved by infinity37

http://acm.hdu.edu.cn/showproblem.php?pid=6579
good

OD00000%$a$j0o0o000
1000%a l$0% rs0 0 0000000000000

20000%$000000
good

0 00O nJ$1\leq n\leq 5e5%

0 00O mQ$1\leq m\leq 5e5%
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$1\leq a_i\leq 2~ {30}$

goodogo
g

gooboodod
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O0O00%¢000000%-1400000000000O000DOO000DOODODOUOODOOOOO

Oo00oos(L,l-1)sc00ooodiooodoooo0ooooo0oooo0oooDoooooon
O00000os$isc0oopoooooon

gobooobbooobbooobobooobbg

HEN

#include <stdio.h>
#include <string.h>
#include <stdlib.h>
#include <algorithm>
using namespace std
const int N le6+5
const int M = 33
int pre[N| M
int sel|[N|[M
int n
int lastans 0
void append(int x
x = X" lastans
n
int cur = n
int i = 31;1i>=0;1
preinl|i pren-1][1
selin/|i sel[n-1][1

int 1 = 31;1>=0;1

X i 1
prein!|[i
preinl|i X
selin/|i cur
break

cur sel/n]i
swap(prelnl[i], X
swap(sel[n|[i], cur
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X prein||i

void getans(int 1,int r

1 1" lastans)%n
r r~lastans)%n
1>r) swap(l,r
int ans
int i i i
sel/r][i 1

ans max(ans,ans prel(r||[i

printf("%sd\n", ans
lastans ans

int main

int cas,pn,m,opt x,y
scanf("%sd", &cas

cas

n

lastans

scanf ("%sd%sd" ,&pn, &m
int i i pn;i
scanf ("sd", &x
append ( x

//lastans = 0;

int i i<=m;1i
scanf ("S%sd%sd" , &opt, &x
opt
scanf("sd", &y
getans(x,y
append ( x

D-Vacation

solved by Zars19
D-Vacation

code:HDU6581
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0000000000000 000oooOgOgsns0dooooooooDoooooood
O$lisivisf00000000000ODO0O00DOOO000DOODOOO0
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E-Path

solved by wzx27
http://acm.hdu.edu.cn/showproblem.php?pid=6582

0000000000000 00000D0000D00OS$\text{dijkstra}$0 0000000000
O $w+dis[ul==dis[v]$0 00000000000 O0OOOOOO

$\text{HDU 5889}$0 0 0000 000ODOOOOOODODOO $long\; long$m O O $\text{WA}$C 0O O

#include<bits/stdc++.h>

#define 11 long long

#define int long long

#define pii pair<int,int>

#define mp_make pair

#define pb push back

#define fi first

#define se second

#define rep(i,a,b) for(int i=(a);i<=(b);i++)

#define showl(a) cout<<#a<<" = "<<a<<endl

#define show2(a,b) cout<<#a<<" = "<<a<<"; "<<#b<<" = "<<b<<endl

using namespace std;

const 11 INF = 1LL<<60;

const int inf = 1<<30;

const int maxn = 2e5+5;

inline void fastio ios::sync with stdio(false);cin.tie(0);cout.tie(0);
int n,m,tot,tot2,head|[maxn|,head2/maxn|,cur[maxn],layer maxn|,dis /maxn]|;
struct edge

int u,v,w,nxt;
es|[maxn<<l],es2[maxn<<l];
void add2(int u,int v,int w,int he[],edge e[],int &t

> ®D® ® ® O
+
<
|
= <

void add(int u,int v,int w,int he[],edge e[],int &t

el++t].u = u;
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elt].v = v;
eltl.w = w;
el[t].nxt = helul;
helul = t;

void dijkstra

priority queue<pii > q;

rep(i,1,n) dis[i| = INF;
dis = 0;
g.push(mp (0, ;

Iq.empty
pii now = qg.top();q.pop();
int u = now.se;
int i=head2|u];~i;i=es2[i].nxt
int v=es2[i].v,w=es2[i].w;
dis|v]>dis/ul+w
dis/v] = dis|ul+w;
g.push(mp (-dis(v],v));

bool bfs

memset (layer,0,sizeof (layer) ) ;
queue<int>q;
g.push ;
layer = 1;
q.size

int u = q.front();q.pop();
int i=head|u];i!=-1;i=es[1i].nxt

int v =es[i]l.v,w = es[i].w;
w>0 && !layer|v

layer|v| = layer|ul+1;
g.push(v);

layerin|>0;
11 dfs(int u,1l flow

u== flow;
int& i=curful;il=-1;i=es[i].nxt

int v=es[i].v,w=es[i].w;
w>0 && layer|vi/==layer|ul+
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int d = dfs(v,min(flow,w));
d>
es[i].w -= d;
es[i”™l].w += d;
d;
11 Dinic
11 ans = 0;

bfs

memcpy(cur,head,sizeof(cur));
11 d=dfs(1,INF)) ans+=d;

ans;

signed main

fastiol();
int ;
cin>> ; ; --

memset (head, -1,sizeof(head) ) ;
memset (head2,-1,sizeof(head2));
tot = -1, tot2 = -1;
cin>>n>>m;
m__

int u,v,w;

cin>>u>>v>>w;

add2(u,v,w,head2,es2,tot2);

dijkstra();
rep(i,0,tot2
int u=es2[il.u,v=es2[il.v,w=es2[i].w;
dis|[ul+w==dis|v
add(u,v,w,head,es,tot);add(v,u,0,head,es, tot);

cout<<Dinic()<<endl;
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F-Typewriter

00O by infinity37

gooo

obooboboooboboboooboboobobobooobobooopcobobobbobOo
obooboboobobgqboboobobobod

goad

$S\leq 2\times 10~5$ $1\leq p,q \leq 2~ {31}$

HEN

O0000dpO0O 0
00000000000%fi="f{i-1} + p$
00000 i=fj+q$000j0000%+1$0$i$0000$1$0000000

O00000oOo0o0d0oOooO0Uo0oooOodOojpobocod0ooo0oooo0UooDoOoOooooo
000000000 000OOC000DOooO0oOojpboc00oDoo00oooo0oooooOoooig
O0000%+1s0%s0 0000000000000 +100000000D00O000ODOOOO0OOO
O000000000joooooog

HEN

#include <stdio.h>
#include <string.h>
#include <stdlib.h>
#include <algorithm>
using namespace std
const int N 2e5+10
typedef long long 11
struct SAM
int len[N<<1],fa[N<<1],son[N<<1][26
int size, last
void init
size last 1
memset(son[1],0,sizeof(son[1

void insert(char c
int s c-'a'
int p = last,np size
memset (son|np]|,0,sizeof(son[np

CVBB ACM Team - https://wiki.cvbbacm.com/


http://www.opengroup.org/onlinepubs/009695399/functions/memset.html
http://www.opengroup.org/onlinepubs/009695399/functions/memset.html

Last

update: 2020-2021:teams:wangzai_milk:20200513 . c. ik cvbbacm.com/doku.php?id=2020-2021:teams:wangzai_milk:2020051 3%E6%AF%94%EE%B5%IBYESAEWBO%ES%BD%I5Grev=1589981236

2020/05/20 gooo
21:27
last np
len|np len(p
p son[plls p = falp
soniplls np
p falnp
int q sonipl/!s
len(p len|q falnp q
int nq size

leninqg lenip
memcpy(soninql,son(q!,sizeof(son|q
falng falq
falq falnp nq
son|plls qg; p = falp
son(plls nq

int get next(int s,char ch,int &lens
int id = ch-'a’

son/s|[id
lens
son[s|[id
S son[s|[id S fals
S
S
lens

lens len|s
S son|s][id

int getlen(int s,char ch,int &lens
int id ch-'a'
son|s|[id
lens

S son/s||id S fals
S
S
lens

lens len|s
S son|s][id
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lens
sam
1l fIN
char s|[N
int main
scanf("%s", s+1)!=EOQOF
sam.init
int p,q
scanf ("sd%sd" ,&p, &q
int len strlen(s+1
int j 0
int next 1
int mlen 0
int i = 1;1 len;i
fli fli-1 p
sam.getlen(next,s[i], mlen j i
fli min(fli], f[j q
next = sam.get next(next,s[i|,mlen
sam.getlen(next,s/i],mlen ] i
sam.insert(s[j+1
j =3+l
next sam.get next(next,s|[i|,mlen
j i
fli min(f[i], f[j q
printf("slld\n", f[len
0
I-String
00 by wzx27

http://acm.hdu.edu.cn/showproblem.php?pid=6586

0000000000000 000ooo0o0oDooOosksfoooooooooooooogoooo
googod

#include<bits/stdc++.h>
#define 11 long long
#define pii pair<int,int>
#define mp_ make pair
#define pb push back
#define fi first
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#define se second

#define rep(i,a,b) for(int i=(a);i<=(b);i++)

#define showl(a) cout<<#a<<" = "<<a<<endl

#define show2(a,b) cout<<#a<<" = "<<a<<"; "<<#b<<" = "<<b<<endl

using namespace std;

const LUl INF = 1LL<<60;

const int inf = 1<<30;

const int maxn = 3e5+5;

inline void fastio ios::sync with stdio(false);cin.tie(0);cout.tie(0);

char s[maxn|,ans maxn];

int bk[maxn][26],K,loc[26],L[26],R[26],ps;
vector<int> when|[26];

bool check(int a,int pos

Rla]<=0 0;
int tot = 0;
rep(i, 0,25
il=a && bk|pos+1]|[il<L|i 0;
tot += L[i];

Llal>0) tot--;
tot+ps+1>K 0,;
1L

int main

fastiol();
cin>>s+1
ps = 0;
memset (bk,0,sizeof(bk));
memset (loc,0,sizeof(loc));
cin>>K;
int len = strlen(s+1);
int i=len;i>=1;i--
memcpy (bk[i],bk[i+1],sizeof(bk[1i ;
bkiil[s[il-"'a']++;

rep(i,0,25) when[i].clear();
rep(i,1,len) when[s[il-'a'l.pb(i);
rep(i,0,25) cin>>L[i|>>R[1i];
int pos = 0;
int flag = 0;
ps<K
flag = 0;
rep(i, 0,25
loc/il<when[i].size()&&when[i][loc|i]|<=pos) loc|i|++;

rep(i, 0,25
when[i].size()== ;
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int now = when[i][loc[i]];
check(1i,now

flag = 1;

pos = now;

ans/ps! = i+'a’';
loc[i]++;
Rlil=max(0,R[i]-1);
Liil=max(0,L[i]-1);
ans | ps++| = 'a'+i;

//cout<<ps-1<<": "<<('a'+i)<<endl;

’

Iflag) {cout<<-l<<endl; ;

ans|[ps|/='\0";
flag) cout<<ans<<endl;

replay
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wzx270000000000000000000000
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ZarslOU O DO OO

_wzx270 0 EQ0 0 [Zars190 00D

O00obOobopeoO
13:30-14:00

infinity370BO 00000000
Zars190 0O DO d

infinity370 0 OB

_wzx270 Zars19fO QL O00LO OO

infinity370 O BOO O
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